Rais spaendere / Rais clamps

Spaender / clamps
Spander horisontal. Force-pressure-hold.
Horizontal toggle clamps. Force pressure hold.

]

T | Py 0 e @D
L = 7 £ F <
— o 3 A/ N
. s F2 _
| M F po - ’ O o = A
| o g AA o
- s L V o =alels
Ay 5 AY Ao 0 o gL v
~ ['—' l o <
| T - PN
o~ E V gl
I <«—>
\ Al / F1 \Zz}@ Al
< > N
L1 S 2 A 0 x A
[ — o —
O% @9 m im 0m
Q Y Q G vy
<> JeH<A2
(@) A3 A
A2 »He> <>
A A1
A1l
Varenr. |Vaegt |F F1 F2 A A1 |A2 |A3 B B1 | B2 C |9D |G |H |H1|H2|L L1 |L2 M N |O |a
weight | daN | daN | daN
58.901 |0,09 9 |25 |6 13,325 |57 |- 21,5 |32 |156 |- |- 2 36 [10 |21 | 121 |41 [15-30 | M5x30 4915 |90°
58.902 |0,19 130 |35 |9 26 |37 |52 ]13,7 |28,2 |39 |20,6 |5 |48 |2,5]|46 |13 |26 |163 |61 |22-50 |M6X35 55|16 |90°
58.012 |0,27 150 |55 |9 26 |42 |79 |- 38 50 1203 |- |- 3 5114 |29 | 186 |57 |[17-44 | M6x40 6,116 |90°
58.903 |04 210 |60 |12 25,7140 |76 |12,9 [30,3 |44 |258 |6 |48 |3 65 |17 |37 | 234 |81 |28-67 |M8x55 7518 |90°
58.904 |0,84 320 |75 |15 40,8 |57 | 7,8 |20,5 |43,2 |58 |39,1 |8 |57 |4 80 |20 |42 | 301 | 106 |33-91 | M8x65 86 |8 |90°
58.906 |15 500 |90 18 49 |67 |9 41,4 |53 74 1414 |10 |- 5 97 |25 |61 | 359 | 131 |42-112 | M10x112 | 8,8 | 10 | 90°
Spander / clamps
Spander horisontal sidemontage. Force-pressure-hold.
Side horizontal clamp. Force pressure hold.
7 A
/,( <
— i Y y
. A
o L i ' '
w— | (7 P < |
lP; ro A \
4 Mo o900 ) F2
s r T A /ys i r" V
o Ay 5 Ay A
] = ":' ‘ o
I‘ = o 5)
o
. 2 o
T F1 <
N Y
= /
A -
\ A < <
< >Ha Y
L2 Y
L1
: [ —
_@_ ” H )
!4 L #l
Varenr. | Veegt | F F1 F2 A A1 | A2 | B B1 | B2 C|G H H1 | H2 | L L1 | L2 M N O|a
weight | daN | daN | daN
58.922 | 0,24 130 | 35 9 20 32 |6 275138 | 255 |5 |25|80 13 | 60 | 163 | 55 | 15-43 | M6x35 | 5,5 | 6 | 90°
58.022 | 0,35 150 | 55 9 22,4 |37 | 7,3 1404 |55 | 244 |- |3 98 14 | 76 | 186 | 51 | 10-38 | M6x40 | 7,7 | 6 | 90°
58.923 | 0,48 210 | 60 12 24 38 |7 30,5143 [285 |6 |3 106 | 17 | 78 | 234 | 74 | 21-59 | M8x55 | 6,5 | 8 | 90°
58.924 | 1 320 | 75 15 32 52 |10 | 355 |52 |32 8 |4 136 | 20 | 98 | 301 | 96 | 22-81 | M8x65 | 8,5 | 8 | 90°

84

SINDBY HARDWARE 7 - 00032-7-k201810




Rais spaendere / Rais clamps

Spander / clamps
Spander horisontal variabel. Force-pressure-hold.
Variable horizontal clamp. Force-pressure-hold.

A
M F l !
. — ELA\ o T v
1 A (17 Tl — (o m
ﬁ:::.ﬂ 41;‘; Ev 55
F o) F1 © [©]
T|T O[= 10
o [2
L1
Tk
. L .
| |
O V== ) )
m ~
TR —
— - — A3
Am——— A2 A
A1
Varenr. |Veaegt |F F1 |F2 |A |A1 |A2 |A3|B |B1|B2|G |H H1 | H2 H3 |L L1 L2 @D M O |a

weight | daN | daN | daN
58.963 * | 1,4 210 |60 |12 |60|90 |15 |30 |23]|49 |34 |26|90-248 |17 |64-222 |206|234 |81 |28-66 |85 |M8x55 |8 |90°
58.964 * [ 2,8 320 |75 |15 |74 115 |20,5|37 |27 |58 | 38 | 30 | 115-274 | 20 | 78-237 |225|301| 106 |33-90 |12,5 |M8x65 |8 |90°
58.966 * [4,08 |500 |90 |18 |90 |140 |25 |45|29|62 |38 |36 |139-277 |25 | 128-266 | 216 | 359 | 131 |41-111 | 16,5 | M10x90 | 10 | 90°

58.077

Modsat horisontal spaende. Force-pressure-hold.
Reversed horisontal clamp. Force-pressure-hold.

@
T
&
3
3 <
(Q\
~
z = 2
ALY )
<% h
™ <
O
Varenr. | Vgt |F F1 F2 MaX 42 66’7 N
weight | daN | daN | daN : >
58.077 0,56 320 | 115 |24 224

* Skaffevare / Special order item
00032-7-k201810 - SINDBY HARDWARE 7 85



Rais spaendere / Rais clamps

Spander vertikal / vertical clamp

Spaender vertikal. Force-pressure-hold.
Vertical toggle clamp.

aD
<
A2 2D
= —
B o
of N E‘m& of @
i O Q’ - A2 O
H >4<—>‘
| A3 A
L Al
A1
= N ol
l'ﬂ S @D
0 o Y f© O
» O!{ aon Hlo
_uj / ZI g—
.- —— i 2 A - @ O
A3
- i A2 A
—r A2 A1
LD =) 42,2
' A
A1
——rT1
Varene.| Vaegt |F F1 |F2 |A |A1 |A2 |A3 |[B [B1|B2|C |@D|G |H |H1|H2|L |L1 |L2 M N [0 |a
weight | daN | daN | daN
58.801 [0,11 |90 |40 |6 |16 |26 |53 |- 24,635 |- 49|2 |[107 |10 |20 |62 |36 [12-26 |M5x30 |- |5 [100°
58.802 | 0,2 130 |70 20,2132 |6,6 |12,6(32,4|43 |26|5 |52|2,5|132 |13 |24 |80 |47 |13-35 |M6x35 |5 |6 |100°
58.112 | 0,37 150 |65 20 |34 |7 - 339|148 |- |- |7 |3 |176 |14 |28 |96 |62 |19-49 |M6x40 |- 6 |102°
58.803 (0,40 210 |90 |12 |19,5|35 |78 |- 34,2148 |- |6 |79]|3 |189 |17 |35 |111 |76 |19-61 |M8x55 |- 8 |90°
58.804 0,84 |320 [130 |15 |32 |495[9 |- 45,163 |- 894 [239 |20 |46 |151]|102|19-87 |M8x65 |- |8 |90°
58.806 | 1,58 |500 |150 |18 |457 |66 |98 |26 |56 |76 |45|10|- |5 |278 |25 |55 |203|137 |24-117 | M10x90( 8,3 | 10 | 90°
Spander vertikal side / side vertical clamp
Spander vertikal side. Force-pressure-hold.
Side vertical clamp. Force-pressure-hold.
. A
T N
T < <<F2
. v Y
pd X o||loH 4
~ 1 1
<|< i
. Y 7 ¢
= T
B2
| < B >
bl B1
)
/e
- — -Irri o
JI\I.I )
Ba @
*
.
Varenr.|Vaegt |F [F1 |[F2 |A |A1]|A2|B B1|B2 (G |H |H1|H2 |L |L1|L2 M N |O |a
weight | daN | daN | daN
58.822 | 0,25 130 |70 |9 20 |32 27,538 |255 |25 |166 |13 |59 |80 |40|7-29 |M8x35 |55 |6 |91°
58.823 [ 0,47 |210 [90 [12 |24 |38 30,5 |43 | 28,5 230 |17 |76 |111 |68 |11-54 |M8x55 |6,5 [8 |91°
58.824 [ 0,9 320 |130 |15 |32 |52 |10 35,5 |52 |32 295 |20 [102 [ 151 |92 |9-77 |M8x65 |8,5 [8 |91°

86

SINDBY HARDWARE 7 - 00032-7-k201810



Rais spaendere / Rais clamps

Spander / clamp

Spander vertikal forstzaerket. Force-pressure-hold.

Strengtened vertical clamp. Force-pressure-hold. A
T
—
T
AN
I
Y
L3>
A
m
Varenr. |Vaegt |F F1 |F2 |A |A1 |A2|B |B1 |B2|eD|eD1|G |H H1|H2 |L L1 |L2 |L3 |L4 |a
weight | daN | daN | daN
58.211 |0,46 300 |70 |9 28 |40 |6 |34 |46 |10|6 |5 6 |143 114 |35 |85 |45 |10 |6 |- 120°
58.213 [1,5 700 |130 |12 |46 |64 |9 |54 |72 |12|9 |6 9 |220)|22 |56 136 |72 |20 |8 |- 119°
58.215 |2,92 1200 | 150 |15 |58 |80 |11 |68 |90 |15 |11 11 | 268 |28 |69 |170 |90 |25 |11 |36 | 118°
58.217**| 5,8 2300|200 |18 |76 | 100 |12 |76 |104 |20 |13 |10 |13 |326 |36 |87 |216 | 116 |32 |14 |46 | 117°
Spander vertikal / strong vertical clamp
Spander Vertikal strong lige b. Force-pressure-hold.
Complete strong vertical clamp with cover. Force-pressure-hold. A
I
Y
Varenr. Vagt |F F1 F2 |A |A1 |A2 |B B1 C @D |G |H H1 H2 |H3 |L L1 M o R
weight [ daN | daN | daN
58.282C * | 0,42 250 |70 9 20 |33 6,5 129578 |82 |61 |3 |150 |48,5 |20 |9 86,5 | 35 M8x50 116° |3
58.284C * | 1,22 500 130 |12 |30 |445|7,5 395198 [10,2 |85 |4 |234 |71,5 |28 |11 154 | 82,5 |M10x75 |116° |5
58.286C * | 2,49 1.000 | 150 |15 |45 |65 10 |52 11,8 |12,2 |105 |6 |278 |87,5 |36 |14,6 | 188 | 100 | M12x100 | 116° |7
** Opdateret siden tryk / Updated since print * Skaffevare / Special order item
00032-7-k201810 - SINDBY HARDWARE 7 87



Rais spaendere / Rais clamps

Push-pull spzender / push-pull toggle clamps
Push-pull spaender. Force-pressure-hold.
Push-pull toggle clamps. Force-pressure-hold.

Varenr. | Vaegt |F F1 |F2 |H H1 |H2 | L L1 L2|L3 |L4|M S |eoT
weight | daN | daN | daN
58.031 | 0,19 100 | 100 |9 94 |10 |20 |70 |14-35 |20 |24,5|13|M6x30 |21 |10
58.033 | 0,4 250 |250 (12 |128 |11 |22 | 111 [17-57 |25 |33 |16 |M8x35 |40 |12
58.035 [ 0,9 400 | 400 |18 | 159 |15 |30 | 176 |25-92 |30 |52 |24 |M10x50 |67 |16

Push-pull spaender / push-pull clamps
Push-pull spaender med beslag. Force-pressure-hold.
Push-pull clamps with bracket. Force-pressure-hold.

F1 F
<> 9
s =
I —
Z‘
| [ 2
N I"Ju--- i
Y| | L2 >
2 A
Varenr. |Vaegt |F F1 |F2 |A1|A2|B |B1|B2|G|H H1 |L L1 L2 | M M1 N S |eT

weight | daN | daN | daN
58.032 | 0,35 160 | 170 |6 22 |15 |36 |24 |50 |4 [116 |20 | 111 |11-34 |20 | M6x30 |M16x1,5 |6,5 |23 |10
58.034 |0,70 250 |240 |12 |26 |17 |42 |28 |59 |5 | 143 |26 | 162 | 17-51 |25 | M8x35 | M20x1,5 |8,2 |34 |12
58.036 | 1,38 450 |300 |18 |34 |22 |48 |35 |69 |6 |174 |30 |205 | 19-61 | 30 | M10x50 | M24x1,5 |11 |42 | 16

-

88 SINDBY HARDWARE 7 - 00032-7-k201810



Rais spaendere / Rais clamps

Push-pull clamp / low push-pull clamp
Push-pull clamp med beslag lav. Force-pressure-hold.

Low push-pull clamp. Force-pressure-hold.

Varenr. | Vagt |F F1 |F2 |A |A1 |A2 |A3 |B |B1|@D|G |H H1|L L1 L2 |M S |eT
weight | daN | daN | daN
58.042 | 0,42 160 |170 |6 25|52 |95 |- 39 |50 |6,5|6 |112 |16 111 | 10-33 |20 | M6x30 |23 |10
58.044 | 0,84 240 |[240 |12 |35 |85 [12,5]- 46 |60 |8,5|8 |137|20|162 |15-49 |25 | M8x35 |34 |12
58.046 | 1,66 300 |300 [18 |35 |100]|15 35 |53 |70 |11 |10 | 167 |23 | 205 | 19-61 |30 | M10x50 |42 |16
Spander med bgijle / catch toggle clamp
Spaender med 4 mm bgijle. Horisontal. Force-pressure-hold.
Clamps with 4 mm latch. Horizontal. Force-pressure-hold.
X N
® !
g Y r — 7
L—% 00G At
%:o 0 = D03
. O O Y y
F— Y
Varenr. | Vaegt |F F1 F2 |A |A1|A2 |B |B1|B2 |@9D=N |G H |H* |H1|9K |L L1 L2 |S
weight | daN | daN | daN
58.721 | 0,16 200 180 |10 13 |26 |6,5 |24 |36 |19 |5,2 2,5 |51 |42 |12 |4 135-170 | 28-63 |11 |20
58.723 | 0,36 400 |270 |15 |19 |35 |8 30 |47 |25 |6,5 3 66 |57 |19 |6 185-230 |35-80 |14 |26
58.725 | 0,82 700 |450 |20 |32 |51 |9,5 |40 |64 |36 |85 4 86 |75 |25 235-300 |46-111 |19 |34
00032-7-k201810 - SINDBY HARDWARE 7 89



Rais spaendere / Rais clamps

Spander med bgjle / catch toggle clamps
Spander med 4 mm bgjle horisontal. Force-pressure-hold.

Clamp with 4 mm latch. Horizontal. Force-pressure-hold.

@D
er

Varenr. |Vaegt |F F1 |F2 |A |A1|A2 |B |B1|B2|@D=N|G |H |H* |H1 |9K|L L1 L2 |S
weight | daN | daN | daN
58.721B | 0,18 |200 [180 |10 |13 |26 |6,5|25|36]|19|5,2 2,551 42 |12 135-170 | 28-63 |11 |20
58.723B | 0,38 | 400 [270 |15 |19 |35|8 |30|47]|25]6,5 3 |66|57 |19 |6 |[185-230 [35-80 |14 |26
58.725B | 0,88 700 |450 |20 |32 |51 ]9,5|40|64|36 |85 4 86|75 |25 |8 |[235-300 |46-111 |19 |34

I

Spander med bgjle / clamps with latch
Spaender med 4 mm bgijle. Vertikal. Force-pressure-hold.

Clamps with 4 mm latch. Vertical. Force-pressure-hold.

Varenr. |Vagt |F F1 |F2 |A |A1|A2 |B |B1|B2|@D=N |G |H |H*|H1 |H2 |9K|L L1|L2 |P |S
weight | daN | daN | daN
58.731 | 0,16 200 | 180 |10 |13]|26|6,5|24 |36 |19]5,2 255142528 |11 |4 |103 |40 |45|7 |20
58.733 | 0,36 400 |270 |15 |19]|35|8 |30|47 [25]6,5 3 |66|57|7-35|14 |6 |142 |52 |6 |8 |26
58.735 | 0,82 700 | 450 |20 |32|51]9,5]|40|64 |36]8,5 4 |86|75]|9-45[19 |8 |179 |74 |8 |9,5|34

Spander horisontal safe / toggle clamp with safety
Spander horisontal safe. Force-pressure-hold. 2D

N
Toggle clamps with additional safety device. 58.903B @( Y
Y

58.904B

&
H
H2 H1

58.906B

B2
B
B1

A2

Varenr. |Vagt |F F1 |F2 |A |A1]|A2 |B B1|B2 |C |9D |G |H |H1 |H2|L L1 |L2 M N |O |a
weight | daN | daN | daN
58.903B | 0,43 210 |60 |12 |25,7|40|7,6 |30,3|44 |[258 |6 |48 |3 |65 |17 |37 |234 |81 |28-67 |M8x55 |7,5|8 |90°
58.904B* | 0,88 320 |75 |15 |40,8|57|7,8|43,2|58 |39,1|8 |57 |4 |80|20 |42 |301 |106 |33-91 |M8x65 |86 |8 |[90°
58.906B* | 1,56 500 |90 |18 |49 |67]|9 |53 |74 |41,4 |10|-—- |5 |97 |25 |61 |359 |131 |42-112 |[M10x90|8,8 |10 |90°

* Skaffevare / Special order item
90 SINDBY HARDWARE 7 - 00032-7-k201810



Rais spandere / Rais clamps

58.903SS

Spander horisontal rustfri. Force-pressure-hold.

Stainless steel horizontal clamp. Force-pressure-hold.

58.923SS

Spander horisontal lige base SS. Force-pressure-hold
Stainless steel horizontal clamp. Force-pressure-hold.

M8x55 210

Ay 5 Ay

=

106
=
<

78
o
o

Z

<2159 )
74
® {0

234
58.803SS

Spander vertikal rustfri. Force-pressure-hold.

Stainless steel vertical clamp. Force-pressure-hold.

00032-7-k201810 - SINDBY HARDWARE 7

91



Rais spaendere / Rais clamps

58.823SS

Spander vertikal side rustfri. Force-pressure-hold. 43

[

Stainless steel side vertical clamp. Force-pressure-hold.

6,5

Of

>130,5

»
»

28,5

M8X55 »{<
= A

Q
210
daN

—

—

Vv

90 daN

111
58.723SS
Spander med 6 mm bgijle horisontal. Force-pressure-hold. 8 6.5
Stainless steel horizontal clamp with 6 mm latch. Force-pressure-hold. g ’!‘ 7
L 0 &= A
Q B = v(\lvm <
S (.p G= Y
FTAT
58.733SS
Spander med 6 mm bgijle vertikal. Force-pressure-hold. 142
[ | |
Stainless steel vertical catch clamp with 6 mm latch. Force-pressure-hold. (' 7Y N i
14 daN 7
“‘: ¢?:‘-‘_
'y -
\ [To)
wy
© '
QA - A
e To)
270 daNA *{: A @
& NA ‘k N~
400 daN\é ) ©
6 P \'N
6. >«
8 »—«
>« 6,5
A
0 Kot
) W [N~
yN O
Y
Y
19
35
52

92

SINDBY HARDWARE 7 - 00032-7-k201810



Rais spaendere / Rais clamps

58.033SS

Push-pull spaender rustfri. Force-pressure-hold. A
Stainless steel push-pull clamp. Force-pressure-hold. <(12
daN
0
250 250 «
daN daN S N
<> Y
- | -
= il Q) =
T " = Y
To)
™
Base til push-pull / Base for push-pull
Varenr. Vaegt |A |A1 |A2|A3|B |B1|@D |G|H |H1|N
weight
58.132NG | 0,06 22 |7 36 |32 |50 16,2 |4 |34 |10(6,5
58.134NG | 0,1 26 |85 |42 |30 |59 |9 |20,2 |5 |43 ]|26(8,2
58.136NG | 0,18 34 110,548 |30 |69 |12 |24,2 |6 |51 |30 11
Dobbeltarm / Bi-thrust beam
a L A -
i j M
i &5 >
" o D =\ =
B — m— C
o = iE
L; — = Ty 1 1 | —
= —— [ ] DRG] L ]
- T T
Iy
£ 1
L1
Varenr. |Vaegt |H H1|L L1 M Mark for
weight
58.502 | 0,14 30-44 |14 |96 |32-80 |M6x40 |8..2..,9..2..,012, 022, 052, 112, 152
58.503 | 0,24 39-53 |17 | 120 | 36-102 | M8x50 |8...3..,9...3..
58.504 | 0,35 40-71 |20 | 150 | 48-132 | M8x65 |8...4..,9..4..
58.506 | 0,73 51-81 |25 | 200 | 50-160 | M10x90 |8..6..,9...6..
00032-7-k201810 - SINDBY HARDWARE 7 93




Rais spaendere / Rais clamps

Fod / Foot
Indstillelig fod.
Ajustable foot.

Varenr. |H H1 M S |9U
58.512 54-56 |16-18 | M6 17 |16
58.514 |68-71 |22-25 | M8 19 |19
58.516 |94-98 |27-31 |M10 |24 |24
Fod / Foot
Bolt med vulkaniseret gummi. M
|
Bolt with vulcanized rubber. —
I
15
@D
Varenr. |@D |H H1 |M
58.621 |13 |38 |10 | M5x30
58.622 |16 |45 |13 | M6x35
58.623 |21 |63 |16 | M8x50
58.624 |21 78 |16 | M8x65
58.626 |26 |116 |20 | M10x100

Fod / Foot
Les gummifod.
Rubber foot.

Varenr. | @D | @D1 | H1 | Mark for set screw
58.641 |12 |16 |10 | M5

58.642 |14 |18 |11 | M6

58.644 (18 |22 |13 | M8

58.646 |20 |26 |16 |M10

94

Fod / Foot

Bolt med vippefod.
Bolt with tilting foot.

||
>< a

-

@D

Varenr.

@D |H M a | Mark for

58.612
58.614
58.616

19 |68 |M6 |15°]213, 253
24 |80 | M8 |15°]215, 255,422,442
30 [ 101 | M10 | 15° | 217, 257, 424, 444

Fod / Foot

Bolt med lys gummifod.
Bolt with light rubber foot.

Andre modeller

H1

Varenr. |@D|H |H1|M
58.632 |15 |46 |13 | M6x35
58.634 |20 |83 |17 | M8x70
58.636 |25 |93 |18 | M10x90

0og pneumatic clamps

se Rais-kataloget pa www.sindby.dk

T

W S

SINDBY HARDWARE 7 - 00032-7-k201810



